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EQUILIBRIUM- Practice Excreises
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@ If the torque needed to loosen a lug nut holding the wheel of a car is 45 N'm and you are
wheel wrench that is 35 cm long, what is the magnitude of the force you exert Pe"PCndicu]::nt
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ched to a wall by means of a hinge. Attached to the centre of g
it this beam as shown below.
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a) What is the magnitude of the tension in the rope?
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b) What are the magnitudes of the vertical and horizontal forces that the wall exerts on the beam?
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A 650 N student stands on a 250 N uniform beam that is supported by two supports as shown be

D £ S " (‘%
Om o S
< J S “
\ [ Sem . ) st 1
A & . ’) -« &
\[/ 32)! v 5.00 m -
65v - 1.50 m
rt
If the supports are 5.00 m apart and the student stands 1.50 m from the left support, ;
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a) what is the magnitude of the force that the right support exerts on the beam? ( Pb* ﬁ‘ﬂf 4
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Lesson 2—Practice Exercises
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b) }vhat is the nmgmtudc of the force that the left support exerts on the beam? ( @ui .CU,Q( wuwl on T .rixl/
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@ A uniform 400 N diving board is supported at two points as shown below.
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Ifa75.0 kg diver stands at the end of the board what are the forces acting on Mn"
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Find the tensmn in the rgpe supporting the 200 N hinged uniform beam shown below.
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PRACTICE TEST
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Writy'an expression for the magnitude of the force of friction on this box. ? C

(: UEJ ~ @ :éépg

{
<)
I \ Loy 7
=4 6 =1 OS\A@

~

\ e p = 0SINE
- ) (.0 0% 9 =) —_
f=pmace? /-

on a pivot as shown in the illustration. 1f

@ A 5.0 m long uniform beam with a mass of 8.0 kg is placed
42 kg mass be placed on the beam to

a 32 kg mass is placed | 5 m from the pivot, where should a
keep the beam in static cquilibrium?
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@ Which properties of a beam are balanced if a wooden beam has no rotational motion?
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FORCES CAUSE MOTION—Practice Test '

4. A 2.55 kg box slides down a 30.0° incline at a constant velocity. What igithierfonce of ftiction

between the block and the incline?
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Two masses (m, = 3.00 kg, m, = 5.00 kg) hang from the ends of a metre stick as shown in the (
diagram. If the mass of the metre stick is negligible, at what distance from the left of the metre stick

should a pivot be placed so that the system will be balanced?
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6. A 3.0 kg block slides down a 37° incline at a constant velocity. What is the coefficient of friction
between the block and the incline? ——— | . - i
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7. In the static arrangement shown in the illustration, what is F;, ?
INNNENENNSNNEN|

Ar\ F’V\ = 9 }
i =[R2 Ty \ -f

7

DRin = \?mow /

E ROCK RESEARCH 63
CASTL Copyright Protected

el W AP35 0 BRSNS St NN R AL LR BN Plaihs R0 AR AT AN A RN L QTS R AV AL TATR RN EL ER A e A S ledea T



